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8.46 9.94 B: %01 %01 0{I? {breath}
9.91 11.59 A: %01 & X|Li UX|?
11.49 13.17 B: %04 L} OF & -
12.14 13.88 A: %01 7{7|= o+ EL[?

14.15 16.38 B: {breath} &L} x| 047|. {breath}
FELILI?

16.22 17.57 A: 747| 747|7}

17.56 19.65 B:

19.17 19.90 A:

20.07 20.76 B:

20.56 26.66 A:
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23.60 27.29 B: {breath} #AIE 7}X|1 7721 2{0f M O|. {breath}

26.91 27.41 A:

27.67 29.37 B:

29.00 30.15 A:

30.08 31.02 B:

30.66 35.54 A:

36.03 37.57 B:

37.22 38.07 A:

37.83 38.68 B:
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O{A| L2304 {breath}
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38.40 40.09 A: L= oA &1 QlLF J2{?

4117 43.20 B: & oA &1 o CHE At HXK|.

42.89 45.93 A: CHE & 0}? {laugh} Aoll0{Z42 ZF LEQt?

45.32 46.53 B: 2| roflo4Zd & hodq.

46.67 48.22 A: %01 17 o{=H| 3 {laugh}

48.26 49.43 B: Tlof o UX| HlBk5HH,

49.42 52.73 A: {laugh} /M| 3 x| Zloi| E0{ L= LY.

53.07 55.90 B: % 2. /x| sl = o X3x| o} = 047|.

53.64 57.56 A: % & 07| 7H7|= Sl ¢ F10{?

57.58 59.35B: %S L{ 7| XI2.

59.64 61.35 A; A8t 2o|of.

60.57 61.59 B: & StA|X|, %S?

61.3561.78 A: % 8.

62.53 66.87 B: <English eight nine ten eleven> %04 @8t A| 0{7|= X|Z 045 AIZLO}.

66.64 70.47 A: %O} 045 A|F-L}. %OF A0|=0| H7|= T L.

70.74 73.58 A: Bt LI2t 2Ol M MIAIZFOILE A[REZE RHO7F LELITI

70.76 71.86 B: %04.

74.01 75.20 B: W|A|Zt O] L}.

74.14 75.95 A: WIA|ZH XtO|7} L},



75.95 76.64 B: %01.

76.10 77.09 A: %0404,

77.1078.57 B: H7|M - Y22 7tH HIAIZH &to] & ZA.

78.83 86.15 A: %0104, OF 22 L{ L& &&= A& L7t Qo] oL <English summer> 2 504?
85.94 87.30 B: %01 {breath}

86.73 87.66 A: <English summer> Z%£04?

87.6588.47 B: %S.

87.97 90.74 A: %01, 14T CtA| & 7| &£ 4X| AIZFHSHL|?

90.49 91.28 B: T2 I {breath}

91.47 92.19 A: & 2of|?

92.43 98.43 B: %8 {lipsmack} #2H %04 07| K& Fof B%tod. Lt LI <English ACanada> 7t.
98.65 99.30 A: <English *Canada?>

99.30 99.99 B: %S.

99.95 101.74 A: %01 % <English *Niagara AFall?>

102.83 104.45 B: %OtL| EHL| H A|&Lof.

104.42 106.52 A: %0404 <English "Canada> =0{| & HL| HAl=FL}?

106.51 107.23 B: % 3.

108.03 109.32 A: <English ACanada> %04C|0of| H|A|L|?

109.22 109.88 B: [background] <English *Toronto>

109.91 110.50 A: <English AToronto?>



110.50 111.28 B: % 8.

a

110.93 113.41 A: OF 12 L <English ANiagara *Fall> 210 T4 @8 E[Z{L].

113.45 117.26 B: 22 . {lipsmack} & =0| ¢t +E2 A|Ct=l.

116.95 125.54 A: %04 &0| & Z2 A|CH? %O} OF L4 F of= Al

2 Fof= ol ZrAtof gHRAE AFREO| +Q1CHL|?
126.55 129.66 B: {laugh} % x| 2{ZiLk? O SU| e O Sulof 415 ot



